Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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so find its magnitude.

(06 Marks)
Find the cube roots of £ ~i and represent them in an argand plane. (07 Marks)
If a=2i+3j-4k and 81—4) j+ k then show that a is perpendicular to b , also find
| x b (07 Marks)
,sg;“"%y OR
Find the modulus and amphtude of 1 —cos a +isina (06 Marks)
Ifa—1+\3 k,” . b= 21—]+2k and &=31—j—k, find
' (07 Marks)
(07 Marks)
(06 Marks)
(07 Marks)
(07 Marks)
“““““ (06 Marks)
(07 Marks)
d o(x.y,2) . (07 Marks)
) o(u,v,w)
¢ Module-3

: . : : £ :
A particle moves along a curve C with parametric equations x =t g y=t'andz=t +? .

where t is the time. Find the velocity and acceleration and any time t and also find their

magnitudes att , (06 Marks)
Find div F and Curl F, where F =V (x +y + 2’ - 3xyz2). 07 Marks)
Find the dlrectlonal derivative of ¢ = x*yz> at (1, 1, 1) in the direction of 1+ _] +2k.

(07 Marks)
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Solve : (x° —y2) r
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OR
Show that the vector field F = yzi + xzj + xyf< is solenoidal vector field. (06 Marks)
IfF—(x+y+1)1+J— x+y) k, showthat“F‘ curlF 0. (07Marks)

(%
Find the constants a, b , ¢ such that F = (x +3 y H az) i+ (x+cy+2z) mk +(bx +2y-2) j is
irrotational. 4 (07 Marks)

(06 Marks)

(07 Marks)

(07 Marks)

(06 Marks)

(07 Marks)

(07 Marks)

(06 Marks)

(07 Marks)

(07 Marks)

(06 Marks)
(07 Marks)

Solve ye'dx=

(07 Marks)
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